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17 2.89 5.08 5.06 5.070 14. 652 i 2.89 1.80 1.79 1.795 5.188 FAET 0 (300 x 300 X 60) A=50. 02m2
20. 00 5.06 5.08 5.070 101. 400 i 20.00 1.79 1.79 1.790 35. 800
19 11.00 5.08 5.08 5.080 55. 880 9 11.00 1.79 1.79 1.790 19,690 BRUBEERERTO S @K A=5. 93m2
20 9.00 5.08 5.08 5.080 45.720 20 9.00 1.79 1.78 1.785 16.065
1 10.00 5.08 5.08 5. 080 50. 800 3 10.00 1.78 1.79 1.785 17.850 FARBEEFEA IO VY B AR A0 12m2
) 10.00 5.08 5.08 5. 080 50. 800 22 10.00 1.79 1.78 1.785 17.850 8T (RC-40) t=10cn A=50. 02+5. 9355, 95m2
10.00 5.08 5.08 5. 080 50. 800 10.00 1.78 1.78 1.780 17.800
10.00 5.08 5.09 5. 085 50. 850 24 10.00 1.78 1.79 1.785 17.850
— =~ SEERR IOV IBREL
05 10.00 5.09 6.23 5. 660 56. 600 10.00 1.79 0.66 1.225 12.250 o 77 R
06 2.64 6.23 6.45 6. 340 16.738 26 2.64 0.66 0.46 0.560 1.478 SEEHRT O v Y BE ERAL) 1=3. 90m
0] 1.33 6.45 6.90 6.675 8.878 27 0.56 0.46 0.28 0.370 0.207
8 3.98 6.90 6.94 6.920 27.542 § 293. 380 WEBRTO Y BET
30 g ?Z 3 2; :(9)? 3 g;é ‘1‘ igj A =203, 380:0. 40> (118.25+53. 25) =359, 972m2 HEHR IOy BE (120X 120X600)  L=20. 60n
= d d d d TRBB/T  &F A=203380+0.20x (113.23+53.25) =326.676m2
31) 0.30 8.01 8.19 8.100 2.430 KEST
3) 0.15 8.19 8.46 8. 325 1.249
33 5.58 8.46 8.44 8. 450 41151 SHAIR (B R RARER) (1=150m) 1=56. 90+57. 30+48. 20+57. 80+61. 00+56. 06+2. 00+2. 30=341. 56m
34 0.09 8.44 8.09 8. 265 0.744 FARTA Y4 (300300  60) T
T 0 5.0 ) 065 o1 Py S " S p- pr LR (B EERERL) W=45cm) 1=2. 75 x 3+1. 60=9. 85m
36 0.36 7.84 7.74 7.790 2.804 [0) 2.01 1.69 1.06 0.896 05 5558 (B B R EARR) (N=45cm) L=21. 00m
37 0.22 6.81 6.81 6.810 1.498 @) 1.69 3.75 3.90 3.140
38 0.07 6.81 6.49 6. 650 0.466 ® 1.06 0.17 1.12 0.086 FA T —y (BREGEERM) (=45em)  L=9. 35 x 4=37. 40m
39 0.48 6.49 5.51 6.000 2. 880 @ 3.25 1.75 4.21 2.653 . e
@ 03 559 1% 5 270 2 266 ® RT. RT) 070 0,39 €75 (BBREGKERI) (I=450m) L=1. 63+2. 92+2. 69+2. 44+2, 18+1.93+1. 68+1. 42+1. 17+0. 91+0. 66=19. 63m
@ 0.43 4.95 4.54 4.745 2.040 ® 5.49 6.42 1.19 2.200
@ 0.99 4.54 3.84 4.190 4.148 @ 4.99 1.01 5.49 2.288 HiE M - BRET
43 0.09 3.84 3.80 3.820 0.344 1.75 14.58 14.15 12. 161
t: 1.03 3.78 3.42 3.600 3.708 ©® 14.15 1.70 14.04 11.934 ks (BFIA) (¢101.6%x13.2) N=12. 0K
45 0.45 3.42 3.35 3.385 1.523 1.01 14.15 14.15 7.141
@6 0.20 2.84 2.85 2.845 0.569 @) 14.15 14.11 1.01 7.125
& 990. 695 50. 020

=0 6FE IFES % 838

5
TEEI-22658 LB REEIRR
TEEI 23S ERRRTE
HETRME (22
% R = HEES | 14/16
ER = |zJ1r
B H

*EHEWRH &M




BaE Y RE LI

S=1:100
MALE () N=3.0K
(H=7.0~10.0m, #20.45~0.55m)
HiL i E (¢ 114, H1200) N=23. 0K EBRERBHR RESE - BSEER)
XN2AZBAHA $60.5 N=1.0&
HBAIBHR N=1. 0% REABIE FIE) |N=1. 0%
(H=4.0m, ££0. 10m)
Q ! R @ LO@F @ 3 e -
= - g
o 5 g 5 5 & = ;J: SR |
= = N
10.00 _ 510 1.38 1.23 _2m 20 50
10.40 _ 1% _ 680 r _ _ 13.20 = 10.00 = =t = - = = © = = >
L — = 5 = ~ 3 L = r > S
¥ ol = = S = e o 3 < El
0 o zl <l = i 3 = T
| + 11 ¥ 12
i ayy @ i @ ’:‘ 1 = ) N
z = 5 = @ " p
831 TEIOY B SR (3 10.00 = Do £ O] e
& ¥ B g 63.92 ® 8 o B * b
les. FHIOYY () ol - Jay %
o = — o
— FRIOVY 12 m g‘ 10.00 & 10.00 = ®4 33 — — g
EE: Z
© [ 1 OmTEABREL
DE M
HOKBIE L L =37 43m QBB PIBRIEL OBHBEREL L =11.36m 3 L
L=0.40m U=2270m '
DBEOKEE L L =10.03m CRBITHAREL 3 L L=1630m QBBITRBREL
omsThaREL L=017dm L=0.46m
L =0.52m O L
0.57m
! @FWHBER IOy HIUKL L =71.88m
EHABRTO Y MEL L =16.38m J \, EWESRTOYHREL L =62 59m
1 f
EHBAME N=1.0% SRAME N-1.0%
® ® ) ®
&l = o o ®
8 5 g =i 3 5|
4 3 4 <]
K _ 0,00, = — _ 11.00 - 9.00 _ _ _ 10,00 10,00, _
= S = 5
s . > 8
=| = = =] =]
+ ¥
[iq 9]
S o 2 2 = TIw 2 @
FHIOvY 9 28 64 FRIOvY | i TETE ] 2
- ’ i o o £ ! 214 + 571 2
s s (@) = a2 = A 3
= _ _ 60,00 ) 9 :
[ EXPIDY) FTSET] P T o
g IOy IOy — —) g— — — ©
E B am Y AT T - e_m 2\ #5705 @,
= 77 ERRRN
- @, 2
L=F )
W=4Tke
BUKBERIRL L =30.75m L L=84Im GBEBKBIEL L =3110m
S 6FE I%ES % 88 5
@HEEHER IOy HIEL L =60.00m
TEE3-22554% SRENTRRATRA
MEE- 23S RAMEBRBRTE
SAMRTOY Y WEL L =60.00m
ISR L TR (1/2)

%R =S HEE S 15/16

it

a

B "

cRERTRR




BEMEWRELIFEMAQR/?2

SHLERR I L =6.60m
ERT

FEHME (P 114, H1200) N=5. 0% CEBBMMAEEE N1 0K
(BREE#LE - B5EEM) 676.3
= ® 5 ® = () o~
N < hor s
_ 10.00 _ 1000 _ - 10.00 .
s B = 8
= s =1 s
2 g
i b *
i FHIavy @ w 2 = 4
i e
2 As 249 @ 5 i 5
~ 2000 il 3 @ @ 2
— 09 BEInvs I z S [ L B)
| JE— JE— IOy [R— —_ I = £ =
pt S ————;\ @1&% fried yA e — )= |5 3 3) 5 a =!
Ve —_— — —(
— —
L =
W=iTke

QBEBITRBIUR QRRRERE L

©REREKEIIE L L =9.02m

OFBHBRMEL L =18.90m

L£=0.40m L=4.6Tm

@FEEHRIO Y SBIEL L =32.75m

Ok HRITO Y HBIEL L =34.95m

®@FHwITO v Y (t=6cm)

=

E8

|EH ALY ) — bk V= (0.50%0.40-0.30x 0. 20) x 4. 60=0. 64m3

poa=) T il
B | E w19 & m = ®]11=-.$7M94§21§ i,] -
@ 18.31 1.24 1.21 1225 22,430 0
P 1.20 0.30 0.30 0.300 0.360 W o0 o]
E) 10.46 0.69 071 0.700 7.322
1) 1.36 071 0.67 0.690 0.938
B 0.25 0.67 0.43 0.550 0.138 |8
) 4.09 0.43 0.43 0.430 1,759 ol
7) 1.00 0.06 0.06 0.060 0.060
) 2.01 0.42 0.43 0.425 0.854
) 2.63 0.31 0.31 0.310 0.815 BRI U—h V=0 RX00X0 T
g 6.04 0.44 0.4 0.425 2.567 FL—F 5% : W=35.0x1.0K=35. Oke
0) 0.27 0.41 0.67 0.540 0.146
0 0.16 0.67 0.67 0.670 0.107
G 1.00 0.17 0.17 0.170 0.170
0 2.25 0.64 0.64 0.640 1.440 N
0 13.20 0.64 0.62 0.630 8.316 GHEER I A J/JSH}}%][O’
g 12.04 0.68 0.68 0.680 8187 L=16. 38+62. 50+60. 00+34. 95=173. 9m
0 10.00 0.62 0.61 0.615 6.150
0 10.00 0.68 0.69 0.685 6.850
0 10.00 0.61 0.60 0.605 6.050
i 10.00 0.69 0.70 0.695 6.950
i 313 0.60 0.60 0.600 1.878
! 4.3 0.70 0.70 0.700 3. 031 BF3 05 U — b V=0.014% 173.9=2. 4303
i 0.60 0.40 0.40 0.400 0.240 -
i 1.19 0.70 0.69 0.695 0.821 =
i 13.85 0.30 0.30 0.300 4155
i 10.00 0.69 0.67 0.680 6.800
i 2.94 0.67 0.66 0. 665 1,955
i 28, 64 0.30 0.30 0.300 8.592
i 34.52 0.6 0.67 0. 665 22,956
2 23,14 0.30 0.30 0.300 6.942
2 1.00 0.14 0.14 0.140 0.140
2 1.00 0.0 0.02 0.025 0.025
2 2.4 0.66 0.65 0.655 16.034
2 0.60 0.30 0.30 0.300 0.180
2 0.12 0.30 0.30 0.300 0.036
2 20,00 0.30 0.30 0.300 6.000
2 0.36 0.30 0.30 0.300 0.108
2 2.68 0.34 0.33 0.335 0.898 @& J0 v Y (t=6cm)
2 2.69 0.64 0.62 0.630 1.695 N BA
3 3.64 0.93 0.90 0.915 3.331 B | ®* Team | waw 9 R
3 1.20 1,21 1.22 1.215 1.458 ® 63,92 0.30 0.30 0.300 19.176
3 1.22 0.20 0.30 0.250 0.305 ® 0.60 1.20 1.19 1.195 0.717
3 20,00 0.65 0.68 0.665 13.300 @ 3.00 0.60 0.60 0. 600 1.800
3 0.125 0.68 0.69 0.685 0.086 | (0.100.15) /2=0.125 @ 1.20 0.30 0.30 0.300 0.360
3 0.30 0.69 0.67 0.680 0.204 @ 9.9 0.30 0.30 0.300 2,997
3 1.53 0.67 0.62 0.645 0.987 [z} 0.90 0.15 0.15 0. 150 0.135
3) 1.60 0.62 0.63 0.625 1.000 @ 2,04 0.30 0.30 0.300 0.882
39 1.02 0.1 0.1 0.110 0.112 @ 60.00 0.30 0.30 0.300 18.000
9 7.60 0.64 0.66 0.650 4,940 @ 20,00 0.30 0.30 0.300 6.000
(@) 0.30 0.37 0.37 0.370 0111 @ 12.26 0.30 0.30 0.300 3.678
@ 1.21 0.16 0.00 0.080 0.102 @ 0.90 0.30 0.30 0.300 0.270
190.037 & 54.015

@F4R I By (t=6cm) V=190.037 x0.06=11. 40m3

@FH T O v (t=6om)

V=54. 015 x 0. 06=3. 24m3

QBIBITRIBRUR L
S=1:25

L=0. 52+0. 73+0. 40 x 5+0. 45 x 3=4. 6m

500
lioo_ 300 _iog

[ ]

400
[100, 200__,100|

©BEER/KBREE L

s=1:25
L=10. 03+37. 43+0. 57+30. 75+31. 10+9. 02=118. 90m

1122
600

[

300

500

A=0. 413m2

200

702

S|EHATY ) — b 2 V=0.413x118.90=49. 10m3

BEMRRL-ER

#EFa VY U— b V=0.145x61.97=8.99m3
JUL—F 5% W=5x47=2350Kg

7)
NO. 3+7. 30

|
TEE312345 45

™NO. 3+2. 30

OfFRpAIERE L
S=1:25

L=16. 30+11. 36+2. 27
+8. 47+4.67+18.90=61.97m

A=0.145m2

(W=47Kg)

@BRBEREL
S=1:25
L=1.00m

1100

L]

|V Y— b V=1.10x1.00% 0. 20=0. 22m3

B E WY #ECon (m3) | HRHCon(M3) | As (m2)
Q)gl ¥/ 0.39 — _
QBIHITAIE 0.64 — —
Ot ifliE — 8.99 —
@SEEHERIA VY — 5.29 —
GthxEFR IOy Y - 2.43 —
©BEER/KEREE L 49.10 — -
QOEE 0.22 — _
®FH®RIO VY 11.40 — —
QOFEJInvy 3.24 - —
(OEE — - 953. 32

it| 64.99m3 16. 71m3 953. 32m2

S=1:100

@HHEFERER IOV IEIEL
s=1:10
L=77. 88+60. 00+32. 75=170. 6m

200

P

A=0.031m2

150

215

#BHa>H 1) — k1 V=0.031x170.6=5. 29m3

HEKE

# T
HiEHHE (5 5 12KIEEFA)

FERATEER ()1 (H=4. Om, #£0.10m) N=1. 0%
BIAREER ) (H=7.0~10.0m, #20.45~0.55m)  N=3.0%&
BT N=1. 0%
HHBATE N=2. 0%
BHBER (M 5E - B5EEM) ¢60.5 N=1.0%
JEBR (BERL - B5EFEM) ¢76.3 N=1. 0%

MU
TLFRYy MIHEOR MU L—FUUE 235.0 kg
& 45K TJL—FLT% 35.0 ke
it 270.00 kg

N=23. 0+5. 0=28. 0%

OFEERR (t=5cm)
- " g8 - .
aac izt P prye iy ER
<) 10.40 4.79 4.7 4.780 49.712
@ 7.50 4.7 4.78 4.715 35.813
&) 6.80 4.78 4.7 4.715 32.410
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@) 5.70 4.76 4.76 4.760 21.132
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@) 6.36 6.13 0.34 0.782
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(%) 1.94 0.09 1.93 0.087
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